/T\\ ﬁv &%A @AQ NOT Vossi\(
ABDC
Emm NRAL ) isi va SK  ASTUSAWR

Z
7. M L

Y%A NoT DSSOD\ | RN
B d 'l K AMLKEAKB‘M
U
ACDE QAFQ 8. P
{lﬂ H <7 555 /A PIR=ATOR

R




NOT Tossil),

14. Developing Proof Supply the reasons in this proof.
Given: AB = DC, LBAC = LDCA g g
Prove: AABC = ACDA

Stalements Reasons

1. AB = DC. 2BAC = .DCA a. Ewen .
2. AC=CA b. Relfleyive

3. AABC = ACDA « $BS sl o

Draw a triangle. Label the vertices A, B, and C.

10.

What angle is between BC and AC? 4 c

11. What sid@include £B?  AB ¢ B
12. What angles include AB? /A 5 LB
13. What side is included between £ A ar'xd 2C?
s
AC
C
15. Write a proof. b E
Given: EF = FG, DF = FH
Prove: ADFE = AHFG +
o
LB AT l. &\wen S
DF = Fi
ot A .
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